

$$\begin{aligned} \textcircled{1} \quad & \lim_{x \rightarrow 0} \frac{x e^x - \log(1+x)}{x^2} \\ &= \lim_{x \rightarrow 0} \frac{x e^x + e^x - \frac{1}{1+x}}{2x} \\ &= \lim_{x \rightarrow 0} \frac{x e^x + e^x + e^x + \frac{1}{(1+x)^2}}{2} \\ &= \frac{3}{2} \end{aligned}$$

Option a

$$= \frac{1 - \log 4}{1 + \log 4}$$

Option b

$$\begin{aligned} \textcircled{2} \quad & \lim_{x \rightarrow 0} \frac{\log(1+x^3)}{\sin^3 x} \\ &= \lim_{x \rightarrow 0} \frac{\frac{3x^2}{1+x^3}}{3 \sin^2 x \cos x} \\ &= \lim_{x \rightarrow 0} \left(\frac{x}{\sin x} \right)^2 \frac{1}{\cos x (1+x^3)} \\ &= 1 \end{aligned}$$

Option a

$$\begin{aligned} \textcircled{5} \quad & \lim_{x \rightarrow 0} \frac{\sqrt{x} \tan x}{(e^x - 1)^{3/2}} \\ &= \lim_{x \rightarrow 0} \frac{x \sqrt{x}}{(e^x - 1)^{3/2}} \cdot \frac{\tan x}{x} \\ &= \lim_{x \rightarrow 0} \frac{x^{3/2}}{(e^x - 1)^{3/2}} \\ &= \lim_{x \rightarrow 0} \left(\frac{x}{e^x - 1} \right)^{3/2} \\ &= (1)^{3/2} \\ &= 1 \end{aligned}$$

Option c

$$\begin{aligned} \textcircled{3} \quad & \lim_{x \rightarrow \frac{1}{2}} \frac{\cos^2 \pi x}{e^{2x} - 2x e} \\ &= \lim_{x \rightarrow \frac{1}{2}} \frac{\cancel{2} (\cos \pi x) (-\sin \pi x) \cdot \pi}{\cancel{2} \cdot e^{2x} - \cancel{2} e} \\ &= \lim_{x \rightarrow \frac{1}{2}} \frac{\pi (\cos \pi x) \cdot (-\pi) \cos \pi x}{\pi (-\sin \pi x) \cdot \pi (-\sin \pi x)} \\ &= \frac{\pi^2}{2e} \end{aligned}$$

Option a

$$\begin{aligned} \textcircled{4} \quad & \lim_{x \rightarrow y} \frac{x^y - y^x}{x^x - y^y} \\ &= \lim_{x \rightarrow y} \frac{y x^{y-1} - y^x \log y}{(1 + \log x) x^x - 0} \\ &= \frac{y y^{y-1} - y^y \log y}{y^y (1 + \log y)} \end{aligned}$$

$$(6) \quad u = \cos^{-1} \left(\frac{x+y}{\sqrt{x+y}} \right)$$

$$\cos u = \frac{x+y}{\sqrt{x+y}}$$

$$n = \frac{1}{2}$$

$$x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = nu$$

$$x \frac{\partial}{\partial x} (\cos u) + y \frac{\partial}{\partial y} (\cos u) = \frac{1}{2} \cos u$$

$$-x \sin u \frac{\partial u}{\partial x} + y (-\sin u) \frac{\partial u}{\partial y} = \frac{1}{2} \cos u$$

$$\sin u \cdot x \frac{\partial u}{\partial x} + \sin u \cdot y \frac{\partial u}{\partial y} = -\frac{1}{2} \cos u$$

$$x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = -\frac{1}{2} \frac{\cos u}{\sin u}$$

$$x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} + \frac{1}{2} \cot u = 0$$

option d

$$(7) \quad u = \sin^{-1} \frac{x^2+y^2}{x+y}$$

$$\sin u = \frac{x^2+y^2}{x+y} \quad n=1$$

$$x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = nu$$

$$x \frac{\partial}{\partial x} (\sin u) + y \frac{\partial}{\partial y} (\sin u) = 1 \cdot \sin u$$

$$x \frac{\partial u}{\partial x} \cdot \cos u + y \cos u \frac{\partial u}{\partial y} = \sin u$$

$$x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = \tan u$$

option c

$$(8) \quad u = \log_e \left(\frac{x^2+y^2}{x+y} \right)$$

$$e^u = \frac{x^2+y^2}{x+y} \quad n=1$$

$$x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = n \frac{f(u)}{f'(u)} = 1 \cdot \frac{e^u}{e^u}$$

$$\boxed{x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = 1}$$

$$x^2 \frac{\partial^2 u}{\partial x^2} + 2xy \frac{\partial^2 u}{\partial x \partial y} + y^2 \frac{\partial^2 u}{\partial y^2}$$

$$= g(u) [g'(u) - 1]$$

$$= 1 (0 - 1)$$

$$= -1$$

$$x^2 \frac{\partial^2 u}{\partial x^2} + 2xy \frac{\partial^2 u}{\partial x \partial y} + y^2 \frac{\partial^2 u}{\partial y^2} = -1$$

option b

$$(9) \quad u = \tan^{-1} \left(\frac{x^3+y^3}{x-y} \right)$$

$$\tan u = \frac{x^3+y^3}{x-y} \quad n=2$$

$$x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = n \frac{f(u)}{f'(u)}$$

$$x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = 2 \cdot \frac{\tan u}{\sec^2 u}$$

$$= \frac{2 \sin u \cos u \cancel{\cos^2 u}}{\cancel{\cos^2 u}}$$

$$= \sin 2u$$

$$x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = \sin 2u = (g(u))$$

$$x^2 \frac{\partial^2 u}{\partial x^2} + 2xy \frac{\partial^2 u}{\partial x \partial y} + y^2 \frac{\partial^2 u}{\partial y^2}$$

$$= g(u) [g'(u) - 1]$$

$$= \sin 2u [2 \cos 2u - 1]$$

$$= 2 \sin 2u \cos 2u - \sin 2u$$

$$= \sin 4u - \sin 2u$$

$$= \sin 2u [2 \cos 2u - 1]$$

$$= \sin 2u [2(1 - 2 \sin^2 u) - 1]$$

$$= \sin 2u [2 - 4 \sin^2 u - 1]$$

$$= \sin 2u [1 - 4 \sin^2 u]$$

option a

(10)

$$z = x^4 y^2 \sin^{-1} \frac{x}{y} + \log x - \log y$$

Let $u = x^4 y^2 \sin^{-1} \frac{x}{y}$

$$v = \log x - \log y$$

$$v = \log \frac{x}{y}$$

$$z = u + v$$

$$x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = 6u \text{ and}$$

$$x \frac{\partial v}{\partial x} + y \frac{\partial v}{\partial y} = 0$$

$$\boxed{x \frac{\partial u}{\partial x} + y \frac{\partial u}{\partial y} = 0}$$

$$x \frac{\partial z}{\partial x} + y \frac{\partial z}{\partial y} = 6u + 0$$

$$x \frac{\partial z}{\partial x} + y \frac{\partial z}{\partial y} = 6 \cdot x^4 y^2 \sin^{-1} \frac{x}{y}$$

option b